
Tune IF Bridge

2025-01-14  onsdag 14-01-2025 Slutresultat
6 bord, 12 par. Antal spil: 30. Middel: 150.

Plac Par Score % Navn M-ID

N-S 1 3 200 66,7 Leif Harbo - Lene Keppie 7 2
 2 2 176 58,7 Lis Lind - Anni Nielsen 1 11
 3 4 152 50,7 Trine Haagensen - Susanne Grøntoft 94 57
 4 6 127 42,3 Kirsten Christensen - Runa Diekelmann 29 28
 5 1 125 41,7 Kaj Bjerregård - Gurli Ypkendanz 35 19

 6 5 120 40,0 Bente Russ - Jan Russ 69 70

Ø-V 1 11 195 65,0 Jan Christensen - Arne Lindahl 6 16
 2 13 169 56,3 John Larsen - Ebba Mygind 54 10
 3 12 142 47,3 Laurids Pedersen - Leif Jespersen 22 26
 4 16 136 45,3 Kirsten K. Nielsen - Ruth Witting 55 61
 5 14 135 45,0 Ulrik Seest - Jørgen Ypkendanz 91 20

 6 15 123 41,0 Niels Erik Olsen - Kirsten Niemann 56 13



Tune IF Bridge

2025-01-14  onsdag 14-01-2025 Slutresultat
6 bord, 12 par. Antal spil: 30. Middel: 150.

Par Kontr Resultat Point
Spil:  1

1 11 1U Ø +2 -150 0 10
2 13 2 V -1 50       4 6
3 15 3 V -2 100       8 2
4 12 2 S = 90       6 4
5 14 3 S -2 -100 2 8
6 16 3 S = 110       10 0

Par Kontr Resultat Point
Spil:  2

1 11 2 V = -90 7 3
2 13 1 S -1 -100 4 6
3 15 1U V = -90 7 3
4 12 1U V +1 -120 0 10
5 14 1 Ø -1 50       10 0
6 16 2 V +1 -110 2 8

Par Kontr Resultat Point
Spil:  3

1 11 2 S +1 110       8 2
2 13 2 S = 90       2 8
3 15 3 Ø -1 100       5 5
4 12 3 V = -140 0 10
5 14 3 Ø -1 100       5 5
6 16 2 V -2 200       10 0

Par Kontr Resultat Point
Spil:  4

1 11 2 N +1 140       4 6
2 13 2 N +2 170       9 1
3 15 2 N +1 140       4 6
4 12 2 N +2 170       9 1
5 14 1U N +1 120       0 10
6 16 2 N +1 140       4 6

Par Kontr Resultat Point
Spil:  5

1 11 2 Ø +2 -130 4 6
2 13 3 N -2 -200 0 10
3 15 2 N +1 140       10 0
4 12 2 Ø -2 100       8 2
5 14 3 V +1 -130 4 6
6 16 2 V +2 -130 4 6

Par Kontr Resultat Point
Spil:  6

1 16 3 V -1 100       6 4
2 12 3U Ø -2 200       10 0
3 14 3U Ø -1 100       6 4
4 11 2U Ø +1 -150 0 10
5 13 2 Ø -1 100       6 4
6 15 2U Ø = -120 2 8

Par Kontr Resultat Point
Spil:  7

1 16 4 V -1 100       10 0
2 12 3 Ø +1 -170 5 5
3 14 2 V +2 -170 5 5
4 11 4 Ø +1 -650 0 10
5 13 2 V +2 -170 5 5
6 15 3 V +1 -170 5 5

Par Kontr Resultat Point
Spil:  8

1 16 4 Ø +1 -450 4 6
2 12 3U Ø +1 -430 8 2
3 14 3U Ø +1 -430 8 2
4 11 6 Ø = -980 0 10
5 13 3U Ø +2 -460 2 8
6 15 3U Ø +1 -430 8 2



Tune IF Bridge

2025-01-14  onsdag 14-01-2025 Slutresultat
6 bord, 12 par. Antal spil: 30. Middel: 150.

Par Kontr Resultat Point
Spil:  9

1 16 3 V -2 200       7 3
2 12 2 Ø -2 200       7 3
3 14 3U V -2 200       7 3
4 11 3 V = -110 0 10
5 13 3 V -1 100       2 8
6 15 3 V -2 200       7 3

Par Kontr Resultat Point
Spil:  10

1 16 2 V +1 -140 0 10
2 12 2 S = 90       8 2
3 14 3 S -1 -100 4 6
4 11 1U N -1 -100 4 6
5 13 1 S -1 -100 4 6
6 15 1 S +1 110       10 0

Par Kontr Resultat Point
Spil:  11

1 15 2 Ø -1 50       9 1
2 11 3U V -1 50       9 1
3 13 3 Ø = -140 4 6
4 16 2U V = -120 6 4
5 12 4 Ø = -420 0 10
6 14 2U V +1 -150 2 8

Par Kontr Resultat Point
Spil:  12

1 15 2 S = 110       6 4
2 11 2 S -1 -100 3 7
3 13 1U S +1 120       9 1
4 16 2 S -1 -100 3 7
5 12 2U S = 120       9 1
6 14 3U S -4 -400 0 10

Par Kontr Resultat Point
Spil:  13

1 15 3U N = 600       8 2
2 11 5 S -6 -600 0 10
3 13 3U N +1 630       10 0
4 16 3U N -1 -100 2 8
5 12 3 N +2 150       4 6
6 14 3 Ø -3 300       6 4

Par Kontr Resultat Point
Spil:  14

1 15 3U V = -400 0 10
2 11 4 V -1 50       8 2
3 13 2 V = -110 5 5
4 16 2 V -2 100       10 0
5 12 2 V +1 -140 2 8
6 14 2 V = -110 5 5

Par Kontr Resultat Point
Spil:  15

1 15 4 V = -420 10 0
2 11 6 V = -980 0 10
3 13 4 V +1 -450 5 5
4 16 4 V +1 -450 5 5
5 12 4 V +1 -450 5 5
6 14 4 V +1 -450 5 5

Par Kontr Resultat Point
Spil:  16

1 14 1 S = 80       2 8
2 16 2 S +1 140       9 1
3 12 1 S +2 140       9 1
4 15 1 S = 80       2 8
5 11 2 S = 110       6 4
6 13 1 S = 80       2 8



Tune IF Bridge

2025-01-14  onsdag 14-01-2025 Slutresultat
6 bord, 12 par. Antal spil: 30. Middel: 150.

Par Kontr Resultat Point
Spil:  17

1 14 3U Ø = -400 3 7
2 16 4 Ø -1 50       7 3
3 12 3U Ø = -400 3 7
4 15 4 Ø -1 50       7 3
5 11 6x Ø -3 500       10 0
6 13 4 Ø = -420 0 10

Par Kontr Resultat Point
Spil:  18

1 14 2 Ø = -110 2 8
2 16 2 S -1 -100 6 4
3 12 2 S -1 -100 6 4
4 15 2 S = 110       10 0
5 11 4x S -2 -500 0 10
6 13 2 S -1 -100 6 4

Par Kontr Resultat Point
Spil:  19

1 14 2U V = -120 8 2
2 16 3U S -4 -200 2 8
3 12 3 V -1 100       10 0
4 15 4 V = -620 0 10
5 11 3 Ø +2 -150 4 6
6 13 3 Ø +1 -130 6 4

Par Kontr Resultat Point
Spil:  20

1 14 1 Ø +1 -110 2 8
2 16 1 Ø = -80 7 3
3 12 2U S +1 150       10 0
4 15 1 Ø = -80 7 3
5 11 2 S -1 -100 4 6
6 13 2 N -4 -400 0 10

Par Kontr Resultat Point
Spil:  21

1 13 1 N -1 -100 1 9
2 15 1 N = 80       6 4
3 11 1 N = 80       6 4
4 14 1U N = 90       10 0
5 16 1 N -1 -100 1 9
6 12 1 N = 80       6 4

Par Kontr Resultat Point
Spil:  22

1 13 2 V +1 -140 0 10
2 15 4 S -2 -100 5 5
3 11 5 S -2 -100 5 5
4 14 4 S -1 -50 8 2
5 16 4x V -2 500       10 0
6 12 2 V = -110 2 8

Par Kontr Resultat Point
Spil:  23

1 13 2 V +1 -110 5 5
2 15 2 V +1 -110 5 5
3 11 4 Ø -2 200       9 1
4 14 3U V -2 200       9 1
5 16 3 V +1 -130 2 8
6 12 3 V +2 -150 0 10

Par Kontr Resultat Point
Spil:  24

1 13 3 N -2 -100 2 8
2 15 2 Ø = -90 4 6
3 11 1 S -1 -50 6 4
4 14 3 Ø -1 50       8 2
5 16 4x S -2 -300 0 10
6 12 2 Ø -2 100       10 0



Tune IF Bridge

2025-01-14  onsdag 14-01-2025 Slutresultat
6 bord, 12 par. Antal spil: 30. Middel: 150.

Par Kontr Resultat Point
Spil:  25

1 13 2U V -2 200       5 5
2 15 1U Ø -3 300       9 1
3 11 1U Ø -1 100       2 8
4 14 1 V -2 200       5 5
5 16 1 V +1 -110 0 10
6 12 2 V -3 300       9 1

Par Kontr Resultat Point
Spil:  26

1 12 4 Ø -3 300       6 4
2 14 3U N = 600       10 0
3 16 2U N +3 210       4 6
4 13 1 N +3 170       2 8
5 15 2 Ø -4 400       8 2
6 11 2 S +2 130       0 10

Par Kontr Resultat Point
Spil:  27

1 12 4 N -1 -50 2 8
2 14 4 S +1 150       8 2
3 16 4 S = 130       6 4
4 13 5 S = 400       10 0
5 15 2 V -2 100       4 6
6 11 4 N -2 -100 0 10

Par Kontr Resultat Point
Spil:  28

1 12 3 S = 110       3 7
2 14 3 S +1 130       9 1
3 16 2 S +2 130       9 1
4 13 3 S = 110       3 7
5 15 2 S +1 110       3 7
6 11 3 S = 110       3 7

Par Kontr Resultat Point
Spil:  29

1 12 3 S -2 -200 1 9
2 14 4 Ø -1 100       6 4
3 16 3U S +3 690       10 0
4 13 2U S +1 150       8 2
5 15 1 S = 80       4 6
6 11 2U S -2 -200 1 9

Par Kontr Resultat Point
Spil:  30

1 12 4 Ø +1 -450 0 10
2 14 2 V = -110 6 4
3 16 4 V -1 50       8 2
4 13 3U Ø -2 100       10 0
5 15 3 V +1 -170 4 6
6 11 3U Ø +1 -430 2 8


